A}

RRBEEA (L) FRAF

RRERIRE

BRSHK

NESELE
I3 E (TR

MY LMEERFEEAFIL@ 360°)
B R

DY

RAAEEM

PRI AR SR R
18R R R
PRIFEE R G AL FBIHER
BEERXRGABLR
AHESHERXBRERK
MTTFd/MTBF

HEEBEE

TH AR BRMAFE(typ.) REERK
TR EBRIAFE(typ.) BEER
B S EBEA
BHREABEAR
BRI A R IR

BB E 3 B A

BREABET

BAEERD

BREGEET

TR

BAERE TR MM
BREHEBRBE TR

BREE TRED
BR&UBEEE TR

NS

P A E

Brir &4

R/ Fd

ITHRNEFRE

IEC 68-2-6 #&3) (Amax = 0.75mm, f=5 ... 2000 Hz)
IEC 68-2-27 #ik

FEtrkE

EN 55022 class B, Emission radiated (30... 230 MHz)
EN 55022 class B, Emission radiated (230...1000MHz)
EN 61000-4-2, ESD (contact discharge / air discharge)
EN 61000-4-3, Immission HF radiated (80... 1000 MHz)
EN 61000-4-4, Burst (on all lines)

EN 61000-4-5, Surge (lines to ground)

EN 61000-4-6, Immission HF conducted (0.15...80MHz)
EN 61000-4-8, Immission magnetic field (50Hz)

IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s)
IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar)

H35:021-5419 1392 4FT1:173 1638 6953

% of meas. range
% of meas. range

bit

kHz
kHz
us

us
ppm/°K
years
VvDC
mA
mA
kOhm
nF

mm2

mm2

mm?2

mm2

movements
°C

9

9

dB(uV/m)
dB(pV/m)
kV

V/m

kV

kV

Vemk
A/m
GOhm
kV

MH-C

0...360

+0.3

0.5

0.1

12

0.1

(5)

1.66

(800)

4600

100

240/ 240
8..35

(19)

14

10

100

yes

Wires (3x)
0.56 (AWG20)
Cable 3pole
0.56 (AWG20)
yes

Wires (6x)
0.56 (AWG20)
Cable 6pole
0.25 (AWG24)

360 (continuous)
1F68

no limitation

-40 ... +85

50

200

max. 30
max. 37
+4 /8
30

+1

10
30
20

MH-C2 Vert-X 37E - 24V / 0.5 - 4.5V
N A

0...360 & WL

+0.3 BRI

+0.5 Aol #7145

0.1 BHRARER

14

0.1 FRES #N

@) =P ER 1P68

05 EBARRIT

(600 SERMAN R A

2500 @ﬁ%@

oo BREBUE
BEAFEEHENA

209209 CRE, ER, ML, FEHZ)

8..35 EhRasAETERNS B

@0) L RER

15

10 = R45 A MH-C

100 2 P4 12bit

yes STEETTR

Wires (3x) HMH-C2 EEE

0.56 (AWG20)

Cable 3pole FRER MH-C2

0.56 (AWG20) 7 YE 14bit

9 REI S, EEFBAFMAETE
E/T] m (AT IE)

360 (continuous)
IF68

no limitation

-40 ... +85

50

200

max. 30
max. 37
4/ +8

CONIELEC

A company of the Siedle-Group

W%k - wwwe. tifu-auto.com  iFf:info@imcortech.cn



RERBIEEA (L) FRAF

[y

IE [ 88 B CWHR A1

IE M8 E CCWHE2

TR, E@#E CWA %3

TR, EB#E CCWH 4

TR, RRES ML ATLS

G BB CW 5 1BE JF X AT kA
E@BE CCW 1B FF X 4 7T i%B

B E B /5h 16

3 Ak &4 4pole

5 ¥Rt &4 3pole

7 A% 44 5pole / 6pole
9 Tl PRSIk L4

BAERE/RE
4 ¥Rt B B4 3pole

IE M8 EE CW 5 2% FF 5< i AT C / -~
E@#BE CCW %284 FF 5 3 H*Ti%D 6 ik A B 6pole
Kt AR E TIE 9 ik H R BT IR 4
FRMBERE J5 1@ AR E AR
AR FHE 75 18 AR E W LG B
IR R L& QUBER% 5 ) AR E AT IEH 01 A& 10cm
A #mFEVert-X EasyAdapta &P 03 T3 300m
05 ¥5# 50cm
wHES 99 Wik HHKE
0,5VDC ... 4,5VDC Standard 2
B KE
02 ¥5# 1.0m
06 A% 3.0m
feg s 10 A% 5.0m
24VDC Standard 1 00 Wik BHKE
VertX 3 7 E 4 7 3 6 1 2 1 0 5
HREA
36HR AR H360°
xxA] %03 to 35; Declaration in 10° steps
99RE R KBS A
EREBRRE
7 MH-C
8 MH-C2
HLAR 45 R A
37E1 Wik AR R % size 13 ; AT H Mtype 1
37E2 Wk fA R R Esize 13 ; B HITHtype 2
37E4 R AR R Esize 13 ; WtEHITHLI type 4
37E9 Wik BT BHRBMERTIG
MH C MH C2
1T il B M3 4T LG X X
T o= X X
1T il e 88/ 4% X X
PR 2 SRR R X X
FFRIEETTL (max. 2) X X
R e M B X
SRREB S A SBE30° to 360° (BRI ) X X
BREAARE (R4) X
BEAMARAIRE @S LS) X
fEF A ECW/CCW FIRE / Al 4mIE (BN &4 =k 8 4) X
REIRARE TRE @ALR SRR X

H35:021-5419 1392 4f1:173 1638 6953

Wk - www.tifu-auto.com  Hf£f:info@imcortech.cn

-1

-
=
Ic

Vert-X 37E - 24V / 0.5 - 4.5V
g Kas

FrxH
BEL-—IMRF(&EA.127), fu
B BT B Rk

ik (REEFER)

CONIELEC

A company of the Siedle-Group



R}

RRBEZAR (L) FRAF

B s imiallale

~

';" -
s
| )
Vert-X 37E4 xxx xxx 5xx
Vert-X 37E4 xxx xxx 7xx
B4 (incl.)
Finbaumass [ tdz 1x BEXRF
| ‘ g - - hatig A
SW13 working position 16 2x W WA RRLMEx12
M5 — - THB(Z) M BT
= 21 3 BA RV
- - - SEREEFER
T il 16
al LY I o
o 1 | — ,
LO [ | o0}
- 5 U= 1 <
3| o % | S =
| 7 HAn O \
e v
G HURIE
j 4 H
||| #5Tiefe 5 12
$ 26 19,4
Vert-X 37E4 xxx xxx 4xx
Vert-X 37E4 xxx xxx 6xx
B4 (incl.)
Finbaumass /[ tdz IXEER T
p— T ian - o 2x WA R IR 4 M5x12
SW 13 working posi 1,6 )
- THEUEZ) M BERTHINE
21,3 B K AWFH
M~ I - B 16 L= SEREREFR
x s
A 1T
0 o “CHIF -~
<10 [
& o] [oF] e :
Sl TN=Ire — 1 o«
- 3 =0 s =
S ™ _STHA \
~ T Y~
(25| ]
] o T L
=
Y #\ L__
@5 Tiefe b 12
826 24
A company of the Siedle-Group

H35:021-5419 1392  4pT.:173 1638 6953  Myk:www.tifu-auto.com  H4:info@imcortech.cn



|

RRELEAR (L FRAFE

-

f- x_m

Vert-X 37E1 xxx xxx 5xx
Vert-X 37E1 xxx xxx 7xx
B2 #(incl.)
Finbaumass 7 iz IxBIEXF
. : — = = 2x T AE R S R4 M5x12
W1 working position 16
M5 - TR B(Z) A B ATHLIE
- 4 K A
| R e BEREER
| —H i
s “CHI 77
i 8] (]
o7 | 1 =4 =y
-
AalE el
M CHI v 1
= BURIN 1
T | [
= 4]
\ gh Tiefe 5 12 168
g 26 _ I8
Vert-X 37E1 xxx xxx 4xx
Vert-X 37E1 xxx xxx 6xx
B 4 (incl.)
: Ix BEXF
S 10 Emb@umass — ‘Z i 2§ %gﬁﬁl%ﬂiﬁM5x12
- i working position [ 1 g
- T E(Z) M BAER AT
4] 8 X f2 i 6
S L _ SR o BEREER
v R Wik 5
m}jj o o] L g
, \ el | 2 s
| @ T 1 Ul
N | ATy !
~ T
‘w’/ =1 [ HH 1
Y NNl
| Yo T
#5 Tiefe 5 g2 10,2
826 24
A company of the Siedle-Group

H35:021-5419 1392  45T.:173 1638 6953  Muk:www.tifu-auto.com  H4:info@imcortech.cn



AW |

RRBIFEAR (L) FRAF

Vert-X 37E2 xxx xxx 5xx
Vert-X 37E2 xxx XXX 7xx
B2 4 (incl.)
Einbaumass / tdz 1x BIERF
) e . b 2x W 8 T 5 SR 42 M5x 12
working position g
M5 1 6——‘—*— T (Z) M BAER TG
— e |3 BA AV
B BEREEER
| —TH: =
[} HIL to)
o [y n
S T [
ol g L el e
[_\J I__ ~ N
s | 0| B LJ‘_Tf 1= (=2 Iy g A
o T o
o BUNIE
Y Sy Nyl
= 10,5
||| #5Tiefe 5 12 | | 15,6
926 o i
Vert-X 37E2 xxx Xxx 4xx
Vert-X 37E2 xxx xxx 6xx
B4 (incl.)
: 1x BEXRF
Einbaumass _Z e - 2x AT B 48 4 M5x 12
3x M3 workin osition B
—’1— I F Ly B —wr——= THeAE(Z) M BT AL
= |3 Bk fo P4
i e SERERER
! — =
SO 5
5 T
L0 oo r “ T “ Jl \
S Al ATt
o ] Q =AY
sl | o LJ‘,Tf ik =2y il i
IS it
™ T
r =4 | uNl
- = 10, 5
| 5 Tiefe b 12 NN
9 2b - 24 .
A company of the Siedle-Group

H35:021-5419 1392  4pT.:173 1638 6953  Muk:www.tifu-auto.com H4:info@imcortech.cn



REREERAR (L) FRAF

Vert-X 37E4
ZRER
THENEEZ)
= MH-C 3.85mm
—+I MH-C redundant 4.35mm
e MH-C2 3.85mm
A
BTN MR RATFED -
dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert-X 37E1
ZRER
TEHE(Z)
MH-C 4.95mm
MH-C redundant 5.45mm
1'\'3‘ [ MH-C2 4.95mm
N_ E % REMERATV R K iR
A dx +0.25mm
dy +0.25mm
dz +0.5mm
A company of the Siedle-Group

H35:021-5419 1392  45T.:173 1638 6953  Muk:www.tifu-auto.com  H4:info@imcortech.cn



RERBEEAR (LB FRAF

Vert-X 37E2

THEMEZ)

TEREER

MH-C 6.45mm
MH-C redundant 5.95mm
MH-C2 6.45mm

BMERATY R R A VI

ST

dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert X 37E
- 50
- ! oL
Te)
s |
Y ,
i - |
. ¢#33,8

35
1,5

CONIELEC

A company of the Siedle-Group

H35:021-5419 1392  4pT.:173 1638 6953  Muk:www.tifu-auto.com H4:info@imcortech.cn



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7



